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GEOGRAPHY
Paper - 11

Total Number of Pages : 40

Note : This paper contains hundred (100) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

1. The Core part of the earth is mainly

composed of

(A) Silicon and Aluminium

(B) Magnesium and Aluminium

(C) Nickel and Magnesium
(D) Nickel and Ferrous

2. Onion skin weathering is also known as

(A) Exfoliation
(B) Deflation
(C) Solution
(D) Suspension

3. What type of earthquake waves

are responsible for the transverse

displacement of the particles ?
(A) P waves

(B) L waves

(C) S and L waves

(D) S waves

4. Barkhans are the result of
(A) Glacial action
(B) Wind action
(C) Sea-waves action

(D) Underground water action

K - 0820
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L.

3.
4

Co
(A)
(B)
©)
(D)

1.
2.

(A)
(B)
(®)
(D)

5. Examine the following pairs and find out

correctly matched pair/s by using the

codes given below :

Exogenetic Forces : Action of
Temperature and Humidity

Sudden Forces : Action of River
Water

Compressional Forces : Warping
Orogenetic Forces : Tension

des :

1, 2, 3 and 4 are correct
2, 3 and 4 are correct
1, 3 and 4 are correct

1, 2 and 3 are correct

6. Consider the following statements and
select the correct answer using the codes
given below :

Pluton is an intrusive igneous rock.

Batholiths are largest plutonic
rocks.

Batholiths form the mass of any large
mountain range.

Basalt is considered as the most
common fine-grained extrusive
igneous rock.

Codes :

1, 2 and 3 are correct
1, 3 and 4 are correct
1, 2, 3 and 4 are correct

2, 3 and 4 are correct
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7. Match List — I with List — I and select
the correct answer using the codes given

below :
List -1 List — II
(Mountain Type) (Example)

I. Block Mountain 1. Himalayas
II. Old Folded 2. Black forest

Mountain

III. Relict 3. Scottish
Mountain Highlands

IV. Young Folded 4. Applachian
Mountain

Codes :
| 11 111 | AY

(A) 2 4 3 1

B) 2 4 1 3

) 3 1 2 4

(D) 3 1 4 2

8. Match List — I with List — II and select
the correct answer using the codes given
below :

List-1
(Earthquake Region)
I. Kutch 1. 1905
II. Assam 2. 1967
III. Kangra 3. 1819
4

IV. Koyna . 1950
Codes :

I II I 1V
(A) 3
(B) 3
€ 4
(D) 4
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9. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : Some of the waterfalls
are also knick-points.

Reason (R) : A knick-point is a feature
of infancy stage of a river.

In the context of the above statements,
which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(©) (A)1s true, but (R) 1s false
(D) (A) is false, but (R) is true

10. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : The mountainous parts
of continents have roots extending into
the asthenosphere.

Reason (R) : The continental crust and
the rest of the lithosphere float on the
denser asthenosphere.

In the context of the above statements,
which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)1s true, but (R) 1s false
(D) (A) is false, but (R) is true
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11. Smog is the combination of
(A) Smoke and fog
(B) Fog and haze
(C) Smoke and carbon
(D) Fog and snow

12. The vernal equinox occurs on
(A) 21* September
(B) 21* March
(C) 21% June
(D) 21* December

13. The rate of change of pressure per unit
distance is known as

(A) Pressure increase
(B) Pressure decrease
(C) Pressure change

(D) Pressure gradient

14. The air pressure at the sea level under
the standard conditions is

(A) 1013.25 mb
(B) 1014.25 mb
(C) 1015.25 mb
(D) 1016.25 mb

15. The following equation represents and
gives the result of
Actual water vapour
content of the air

7= - x 100
Maximum water vapour

capacity of the air

(A) Relative humidity

(B) Saturation humidity

(C) Optimum humidity

(D) Absolute humidity
K - 0820
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16. Which one of the following symbol of
climate type is not correctly matched ?

(A) k =Kalt (cold)

(B) w = Summer drought

(C) a = Hot summer, warmest > 22°C
(D) f = year round precipitation

17. Match List — I with List — II and select
the correct answer using the codes given

below :
List-1 List - 11
(Sphere) (Phenomenon)
I. Ionosphere 1. Thunder and
lightning

II. Thermosphere 2. Meteors
III. Stratosphere 3. Heat sphere

IV. Troposphere 4. Ozone layer
Codes :

I II m 1Iv
(A) 2 4 3 1

B)2 3 4 1
3 2 1 4
(D) 3 1 2 4

18. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : The belt between equator
to 10°N receives more rainfall than that
of 0° to 10° South.

Reason (R) : The Inter-Tropical

Convergence Zone (ITCZ) is more

extensive in the Northern Hemisphere

than that of the Southern Hemisphere.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)1s true, but (R) 1s false

(D) (A) is false, but (R) is true
Paper 11
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19.

20.

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : In the absence of clouds
nights would be much colder.

Reason (R) : In the summer season
cloudy days are cooler.

In the context of the above statements,
which of the following is true ?

Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : The thickness of the
atmosphere is the maximum over the
equator.

Reason (R) : High insolation and strong
convection currents occur over the
equator.

In the context of the above statements,
which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(©) (A)1s true, but (R) 1s false
(D) (A) is false, but (R) is true

K - 0820
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Which of the following water body has
the least salinity ?

(A) Mediterranean sea

(B) Red sea

(C) Salt lake

(D) Head of Bay of Bengal

Oceanic Ridges are formed due to

(A) Collusion of oceanic plates

(B) Separation of oceanic plates

(C) Slide fasting of plates

(D) Crumbling of sima on the oceanic
floor

Irminger current is the branch of

(A) Canaries current

(B) North Atlantic current

(C) Labrador current

(D) Benguela current

Match List — I with List — 1T and select

the correct answer using the codes given
below :

List -1 List - I1
(Ocean Trench) (Ocean)
1. South 1. Southern
sandwich ocean
II. Aleutian 2. South pacific
trench ocean
III. Kermadec 3. North pacific
trench ocean
IV. Sunda trench 4. South Indian
ocean
Codes :
| 11 111 v
(A) 3 1 4 2
B) 2 4 3 1
O 1 3 2 4
(D) 4 2 1 3
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25. Match List — I with List — I and select 27. Basel convention is related to

the correct answer using the codes given
below :

(A) Ozone layer depletion

List - I List - 11 (B) Climate change
(Islands) (Location)
I. Marshal 1. South Pacific (C) Earth summit and sustainable
ocean development
L. Tonga 2. North Pacific (D) Hazardous wastes and their
ocean ,
III. Cape Verde 3. South Indian disposal
ocean .
28. Douglas t tly found
IV. Crozet 4. North Atlantic Ougas frees afe mostly found m
ocean (A) Tundra Biome
Codes : _
I I m 1V (B) Savanna Biome
(A) 1 2 3 4 (C) Northern Needle-leaf Forest
B) 2 1 4 3
©) 3 4 1 2 (D) Equatorial Forest
(D) 4 3 2 1

26. Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R). Select your

answer from the codes given below :

Assertion (A) : Oceanic tides help

intermixing of waters in mouth region

of rivers.

Reason (R) : Tides do not help in

maintenance of nutrients in rivers in their

confluence with sea.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)1s true, but (R) 1s false
(D) (A) is false, but (R) is true

K - 0820
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29.

30.

Which of the following is not the
mission of India’s National Action Plan

on climate change ?
(A) National Water Mission
(B) National Mission for a Green India

(C) National Mission on Sustainable

Development

(D) National Solar Mission

Who among the following was associated
with Bishnoi movement in India ?

(A) Shamsher Singh Bhisht
(B) Amrita Devi
(C) Aruna Roy
(D) Vandana Shiva
Paper 11
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31. Which of the following organisation has 33. Examine the following statement(s) and

launched ‘One Trillion Trees Initiative’
to grow, restore and conserve 1 trillion

trees across the world by 2030 ?

(A) United Nations Environmental

select the correct answer using the codes

given below :

1. Global dimming is the reduction in
heat or the reduction in the sun’s rays
reaching the earth.

2. Global dimming covers the drastic

Programme (UNEP) effects of global warming.
Codes :
(B) The World Economic Forum odes
(A) 1 only
WEF
( ) (B) 2 only

(C) International Union for Conservation

of Nature (IUCN)

(D) Global Green Growth Institute
(GGGI)

32. Arrange the following species of trees

in a sequential order from foot-hills to

higher altitudes of Himalayas.
1. Alpine Pastures.

2. Needle forest.

3. Temperate deciduous forest.

4. Sub-tropical forest.
Codes :

(A) 4,3,2and 1
(B) 4,3,1and 2
(C) 3,4,1and 2

(D) 1,2,3and 4

K - 0820
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34.

(C) Both 1 and 2
(D) Neither 1 nor 2

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : Ecological succession
occurs when older communities of
plants and animals are replaced by newer
communities.

Reason (R) : The neutral process
of replacement of one vegetation
community in a given habitat by the
other vegetation community.

In the context of the above statements,
which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)1s true, but (R) 1s false
(D) (A) is false, but (R) is true
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35. Match List — I with List — II and select
the correct answer from the codes given

below :
List -1 List - I1
(Convention/Protocol) (City)
I. Climate change 1. Bonn
II. Convention on 2. Kyoto
migratory species
III. Ozone depletion 3. Ramsar
IV. Wetland conservation 4. Montreal
Codes :
I II m 1Iv
(A) 3 4 1 2
(B) 2 3 1 4
©) 2 1 4 3
(D) 3 1 4 2

36. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : The circuit along
which energy flows from producers
to consumers; a one directional flow
of chemical energy, ending with
decomposition.

Reason (R) : Heterotrophs are those
organisms which cannot convert solar
energy into food.

In the context of the above statements,
which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true
K - 0820
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37. The world population at the beginning
of the Christian Era is estimated at
(A) 1 billion
(B) 250 million
(C) 100 million
(D) 500 million

38. The ecumene and non-ecumene areas

of the earth’s surface is estimated
approximately as respectively.
(A) 25% and 75%
(B) 50% and 50%
(C) 40% and 60%

(D) 60% and 40%

39. The term ‘umland’ refers to
(A) Heart of the town
(B) Residential area of the town

(C) Satellite town

(D) Area surrounding an urban centre

40. Except in , the population of

East and South Asian countries live

mainly in rural areas.
(A) Thailand

(B) Japan

(C) Malaysia

(D) India

Paper 11



41.

42.

43.

TRV HWID 0B WOTED
BRREONTOS WIH0T, WELDTEOI
@déeregé eﬂabﬁmsééojoa’% &eﬁd&dd&

(A) BEr,ens Ho=3r s

(B) @*@%Q) (507083) WORSF S

(C) xR0, (FRRRGT) TORSFS

(D) 30830 BOTIFS

DRTONTE) C3RTH FRWITINS VYT AON
LPOWOH Mdao:ba’% @?pd@c‘b@ TRAT ?
(A) CWeEF Y OO

(B) & 303 o5

(C) meoress 08 2

(D) w3, BRYLF =08y Noer

B3~ 1 R Be3— [T R0 inis, ToReRT
RoBe3neon Bo0kngs 0%

-1 ey 11
(widosm, Ted) (B0 )
L 23l 1. gaseagionod
T ;’jmz%
I 23T 2. avons axos
ML Rl 3. &S e
ITRYT
IV. 2V 4. Zoods
Rodeanies
I m m IV
A4 3 21
®1 2 3 4
©3 4 1 2
™2 3 1 4

Paper 11

16

Total Number of Pages : 40

44. Feoead C3RCBT ATVOTTH W

Seiaiey)

1. =osony Jees.

2. 3B (ZHe3).

3. BRF AIOD T3,
4. TDOINFIT TR,

O3RN JELFNLD O3NS ?
(A) 13 2 (B) 23 3
(C) 3303 4 (D) 102 4

45. D — 1 33y T — 11 Seolrt Hneas.

IR FRTBONT #oéea’n’%ﬁ% VDO3ReN
RO030ZT SOA :

zed -1 zed - 11
(39030 wEHosT, (0P 0ed)
%%o:b Chnta))
L. 1921 g Spceo 1. A0 e3desedn
o}
II. 1921 601951 2. 900D
3T T
III. 1951 0oz 1981 3. Q3w Wemednt
o}
IV. 1981 o <o2d 4. 3TRED
3TN T
RoFeSNed ¢
I II nmr 1Iv
(A) 1 4 2 3
(B) 2 3 1 4
©) 4 2 3 1
(D) 3 1 4 2
K - 0820



41. An idealised sequence of population

change over time in birth and death rate
1s called

(A) Occupational transition
(B) Developmental transition
(C) Demographic transition
(D) Sequential transition
42. Who among the following have

developed the sequential expansion
transport network model ?

(A) Yeates and Garner

(B) Murphy and Johnson

(C) Herbert and Smith

(D) Taaffe, Morrill and Gould

43. Match List — I with List — II and select
the correct answer using the codes given

below :
List-1 List - 11
(Demographic (Regime)
stage)
I. Stage I 1. Low fluctuating or
mature
II. Stage II 2. Late expanding
II. Stage I 3. Expanding or
Youthful
IV. Stage IV 4. Primitive
Codes :
I IT m 1v
(A) 4 3 2 1
B) 1 2 3 4
©) 3 4 1 2
(D) 2 3 1 4
K - 0820
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44. The basic principles of central plan

theory are

1. Range of goods.

2. Threshold.

3. Marginal influence.

4. Functional influence.

Which of the statements are correct ?

(A) 1and?2 (B) 2 and 3

(C) 3and 4 (D) 1and 4

45. Match List — I with List — II and select
the correct answer using the codes given
below :

List -1 List — 11

(Indian Population (Type of

Growth Period) Growth)

I. Before 1921 1. Steady growth
rate

II. 1921-1951 2. Declining growth

rate
III. 1951-1981 3. Stagnant growth
rate
IV. After 1981 4. Rapid growth rate
Codes :
I II m 1Iv
(A) 1 4 2 3
(B) 2 3 1 4
©) 4 2 3 1
(D) 3 1 4 2
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46. Match List — I with List — I and select
the correct answer using the codes given

below :
List -1 List - I1I
(Theory) (Developer)

I. Migration 1. Edwin
theory Connon

II. Optimum 2. S. Stouffer
population
theory

III. Demographic 3. E.G. Ravenstein
Transition
theory

IV. Intervening 4. W. Thompson

opportunity

theory
Codes :

I IT m 1v
(A) 4 2 1 3
B) 3 1 2 4
<) 2 4 3 1
(D) 1 3 4 2

47. A theory which is not directly related to
the location of industries is

(A) Weber’s

(B) Walter Christaller’s
(C) Tord Polander’s
(D) David M. Smith’s

K - 0820
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48.

49.

50.
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An in-correct statement on European
Union as a macro region about world
trade is

(A) It accounts for 1/5" of the world
population

(B) It accounts for 40-50% of world
trade

(C) Nearly 73% of all exports from EU
go to other European countries

(D) It is 5™ largest trading block in the
world

Consider the following statements and

find the correct answer from the codes

given below :

Human Development Encompasses :

1. Enlargement of human choices not
just income.

2. Critical issues of gender and
development.

Which of the following is/are correct ?

Codes :

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Which of the following two countries

given below do not represent intensive
subsistence farming in the World ?

(A) India and Sri Lanka
(B) Argentina and Canada
(C) Vietnam and Indonesia

(D) Myanmar and Philipines
Paper 11
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51. Which type of plantation agriculture can
be seen in Guinea Coast of Africa ?
(A) Rubber and cocoa
(B) Sugarcane and tea

(C) Coconut and coffee

(D) Cocoa and Palm oil trees

52. Pair of countries which have dairying
and dominating in the production of

meat, hides and skins is
(A) USA and Canada

(B) Holland and Denmark
(C) Argentina and Uruguay

(D) France and Spain

53. Which of the following island of Japan
has industrial towns like Kyoto, Koba

and Osaka ?
(A) Shikoku
(B) Kyshu

(C) Honshu

(D) Hokkaido

K - 0820
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54. Match List — I with List — II and select
the correct answer using the codes given
below :

1. London
II. Amsterdam
III. New Orleans

IV. Buenos Aires

List -1
(Ports)

Codes :

(A)
(B)
©
(D)

I 11
3
4
2
5

I1I

B N = 0
—_— B~ O B

A e

List - II

(River)

Rhine
Parana
Hudson
Thames

Mississippi

IV

N W N —

55. Match List — I with List — II and select
the correct answer using the codes given
below :

List-1
(Major coal

mining area)

I. Ruhr

II. Pennsylvania
III. Karanganda
IV. Shenshi-Shanshi
Codes :

I IT I
(A) 4 3 2
B) 5 1 3
(O 2 4
(D) 3 5 2

List — IT
(Country)

1. Japan
2. Russia
3. Germany
4. China
5. US.A.

IV

A O K =
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Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : Planning regions in
general have conceptualized as almost
dynamic living entities.

Reason (R) : These keep on changing
in terms of space content and space
relationships.

In the context of the above statements,
which of the following is true ?

Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : J. C. Weaver
recognized that, in almost every
farming system several crops are
grown in combination.

Reason (R) : Only very rarely does
a single crop assume complete
dominance.

In the context of the above statements,
which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true
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Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R). Select your
answer from the codes given below :
Assertion (A) : Regional Disparities
in the levels of the development are
the product of its variation in physical
resources.

Reason (R) : The cultural moorings
and its technological attainments also
influence the regional disparities.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is

not the correct explanation to (A)
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

Which of the following is not culture ?
(A) Wearing cloths

(B) Parental body features

(C) Wearing ornaments

(D) Cooking food

Paper 11



% Total Number of Pages : 40
60. <1 Tewsros Bodeor, #r ReRT 62. TP, WO, IB §¢38 ROWOPHAT

ROBERNEOT AO0SZT NOEF A :
1. FSREFowOTO VT, #om%)én’@a’oq
BROOTE FINE F BB FR0RTNG.

TELBCTD
(A) 3B &eom ojwciraeébodasqdo

2. B0, 300 Rosesm ONTIONT) DRIELEeR st al]
WHNRT BIFHOD ©9RT VBTN, BRRBRORTT

3. 308 Bocdg BomIH BT (B) oo,y ©003330 TTg,
SReATT %;Tad@fojado SRS TEROITBROON L83 B0L0T
TOTTON ([NTE, BOWORRTRIOE) o BEST,
20> WA T2, >

So2eaneh : ® (C) woriag w033t T BT

(A) 1 353)2 Z00IRA

(B) 1 873 70

(C) 2 373 70

(D) 13833 3@» Rocw

61. TEHTS (A) 03 FFFS (R) nvow

63.

20030 mﬁmﬂm@d

(D) =7 edodm =03y T,28em,0m Ned

TOTOT, TTWOLIT WOT LRNB
33 2 lae)

©3300% F0030F ;ﬂom@ﬁd o303 m%dé}m

ST Bewsnomd, uQ, SHRHNG, F9r BREATO 20 yeantis Aecmo
BT RodeInva TRy FOohoZT TOLORIFE) AEDF AR ?
308 (A) 0BT
T,3TWR (A) : WIF0oW, 0IV0E, (B) 2p¢ATo@ER
wd&ﬂmﬁdﬁi QUFONIWIOTOE WOT (C) =a, FeEn
SN ONT.
(D) 2@ruzEe

FFES (R) 1 T3 33 7307,
TPSFO3IN ojoadfae&ojosotdo =02 Yvgs

64. N& (RD)NY T2 NYM ROWOTRBT
@d)@@dﬁd@@ﬂd N
HreOR BeLINIR R0100AT0E DAY, GoT
C3TREYTI ROCIIZT ? (A) 2D DFOI, V0L BREZT
ToZe3NLD ¢

(A) (A) 33 (R) R¢0E Z000m (A) 7
(R) R0 =TRBRAT

(B) (A) 3 (R) n&S@» F000, =TT
(A) 7 (R) 8 DS F00IRNY,

(C) (A) Bo0InNG, =33 (R) 31,

(D) (A) 3R, =33 (R) BcWT

Paper 11

24

(B) 2TR0td 0atedecdd R

O ed
(C) o w33 @a”%osasg{ BROEROT
QFriRod w,aTR,T VBT

(D) 2t 5,300 R L300,
SUTON BEFRIZT

K - 0820



60. Consider the following statements and

identify the correct answer using the

codes given below :

1. Society is an organised group
of individuals possessing distinct
culture.

2. Culture is the invisible traits of
behaviour that provides organizing
rules.

3. Compare to people of USA Indians
are more urban in outlook.

Codes :

(A) 1 and 2 are correct

(B) only 1 is correct
(C) only 2 is correct
(D) both 1 and 3 are correct

61. Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R). Select your

answer from the codes given below :

Assertion (A) : Population control is

one way in which consumption might

be checked.

Reason (R) : However, this is purely

a problem of European and North

Americans.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)1s true, but (R) 1s false
(D) (A) is false, but (R) is true
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62.

63.

64.
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A statements which is not related to the

occidental cultural realm is

(A) Maritime European linked with

Mediterranean

(B) Latin American closely related to

occidental realm

(C) Anglo-American is a part of

occidental realm
(D) Australia and New Zealand are not

the part of the occidental realm

In which of the following state of United
States of America Hohokam people built

miles of irrigation canals ?

(A) Arizona

(B) Colorado

(C) New Mexico

(D) Idoiho

An aspects odd to the functions of
boundaries is

(A) It generates loyalties

(B) Itis not a political creations

(C) It binds and defines people’s
loyalties
(D) It act as separator of territorial

sovereignty
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65. A book ‘Geography of Peace’ was

written by

(A) William Kirk

(B) D.J. M. Hooson
(C) H.J. Mackinder
(D) Nicholas Spykman

66. Consider the following statements and

identify the correct answer using the
codes given below :

1. World political events in late 1980’s
and early 1990’s made the theories

Hartland and Rimland irrelevant.

2. Russia’s satellite states fell one by

one to western democracy.

3. Germany did not emerge as a strong
nation after the unification in Central
Europe.

Codes :

(A) 1 and 2 are correct
(B) only 2 is correct
(C) only 3 is correct

(D) only 1 is correct

67. The author of ‘Social Area Analysis’ is

(A) De-Seversky

(B) Cohen

(C) E. Shevky and W. Bell
(D) De-Bly
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68. Given below are two statements, one

69.

70.

labeled as Assertion (A) and the other

labeled as Reason (R). Select your

answer from the codes given below :

Assertion (A) : The North Atlantic

Treaty organisation is more than a

defence alliance.

Reason (R) : German Unification (GDR

with FRG) did not provide additional

strength to the NATO.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)1s true, but (R) 1s false
(D) (A) is false, but (R) is true
Who among the following was the first
to divide the circle into 360 degrees ?
(A) Aristotle
(B) Copernicus
(C) Ptolemy
(D) Hipparchus
The concept of ‘Paradigm’ was
propounded by
(A) Haggerstand
(B) Peet
(C) Haggett
(D) Kuhn
Paper 11
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Who among the following is referred to
as the ‘Father of Geography’ and coined
the word ‘Geography’ ?

(A) Plato
(B) Aristotle
(C) Eratosthenes

(D) Hipparchus

The Nineteen volumes of Erdkunde
covered treatment of the following

continents when Ritter breathed

his last in 1859.

(A) Africa and Europe

(B) South America and Australia
(C) Australia and Africa

(D) Africa and Asia

From amongst the following Arab
Geographers, who is best known for the
extensive travel and writing accounts of

geographical importance ?
(A) Al Masudi

(B) Al Idrisi

(C) Ibn Batuta

(D) Ibn Hakul
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74. Who among the following made several

corrections in Ptolemy’s book ?
(A) Ibn Batuta

(B) Ibn Khaldun

(C) Al Masudi

(D) Al Idrisi

75. Match List — I with List — II and select

the correct answer using the codes given

below :
List -1 List — 11
(Book) (Author)
I. Odyssey 1. Ptolemy
II. Geography 2. Homer

III. Guide to 3. Eratosthenes

Geography
IV. Geographica 4. Strabo
Codes :

I II m 1v

(A)2 4 1 3

B)4 2 3 1
() 3 1 2 4
™1 3 4 2
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76. Given below are two statements, one
labeled as Assertion (A) and the other

78. Match List — I with List — I and select
the correct answer using the codes given

labeled as Reason (R). Select your

answer from the codes given below : below :
Assertion (A) : Charles Darwin published List — T List — II
his research work on ‘The Origin of
Species’ in 1859. (Author) (Book)
Reason (R) : The death of Humboldt
and Ritter in 1859 marked the end of an I. Humboldt 1. Nature of
era in the development of geography as Geography
a branch of scientific knowledge. I Ratzel 2. Erdkunde
In the context of the above statements,
which of the following is true ? III. Hartshorne 3. Kosmos
Codes : ' )
(A) Both (A) and (R) are true and (R) is IV. Ritter 4. Anthropogeographic
the correct explanation of (A) Codes :
(B) Both (A) and (R) are true, but (R) is I II m 1v
not the correct explanation to (A) (A) 4 2 1 3
(C) (A) is true, but (R) is false (B) 1 ) 4 3
(D) (A) is false, but (R) is true ) 2 4 3 1
(D) 2 4 1 3

77. Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R). Select your

answer from the codes given below :

Assertion (A) : Ritter was appointed as

the Professor of Geography at Berlin in

1820.

Reason (R) : The book ‘Erdkunde’ by

Ritter was very favourably received by

many scholars.

In the context of the above statements,

which of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true
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79. Bar diagrams are
(A) One-dimensional
(B) Two-dimensional
(C) Three-dimensional

(D) Four-dimensional

80. Which of the following is a ‘Great
Circle’ ?

(A) The tropic of cancer
(B) The Arctic circle

(C) The tropic of capricorn
(D) The Equator

Paper 11



81. FINT3ReOSeTT (FBR0L0G) MY, @@M%o:a’

) B30T IR ?
(A) +05 (B) +80
(©) -60 (D) —1.00

82. PRRYT ZN&LS a’o?sdﬂ@ (22.%0.207°.)
WeF R)EF MoN GVTO3RCNROT om0 ¢3°
QTIRTYT ?

(A) 227 (PDF)
(B) @xw»y* (DXF)
(C) 20522 (MIG)
(D) 2o (GIF)

83. 208 203nY dmcﬁéeéds&cﬁel , LOTID C3T3T30
3, & BT, BIT20TNY TOTIBIVGEONT TR
AT TEN LS 180008 BV, N0dRLD
TOR) WERRTO

(A) BBROWOG DBERES

(B) &0dos 3¢k

(C) Bredprintdne-33RFs &¥a°
(D) §-7,.° () ¥,

84. 0,088 FetnT X SRTEY $80RTHE
R (3R63) O 83 BRFTY- TR
QRTFBOIRNT.

(A) 20730 TEeesd T3 (TOOUW0ES® T3ee3D
237

(B) 20ee88 tet Tuds (o dna
3oL @iﬁ)

(C) 3R08ness teem T3S (TRD” deem
%)

(D) ROB dees T3S (807 deem 3 30°)

Paper 11

Total Number of Pages : 40

85. NI, 03w ROPETINGD W0BWTEIT
BNo-BREMONDT @m@@’a‘aﬁa’% RN,
BRCTNLD, abwaw (B0a300%0) 30BY &ozsd
mom;a@ﬁeml PeDRTROB JRENED

FR0PF NG ?

(A) JeTEeE F0TCTBNT

(B) 380083 (Qmﬁdw@) R0TICTIBND
(C) Rdne 2oon Boersned

(D) P03RNEET ROBCTIBND

86. BT ée%mf@t 205D B3 FIR
BRBEURT RoFeENPoT FOO0ZT SO :

1. BT A R (IRNSS)
(}Te0D B8R BOZURF) B
DOLD YUTRTBNY BRRTE, ‘T0T™
(NAVIC) @@megd

2. y08e0 3803 FPFOINT LWBNH
T (IRNSS) 0w e we¥mesont
RN % QepF 030 AesS (7. .07,
02 9FZ wISmToR neEg S0
20808 B6T3 (¢3T°. 0AP.) BRO DT
OGT RESNISRTNRY T,

3. TRHET A BHe3TY, 20 m Mo
SV Q0T R QEDF OB WRNRITR)TIOTD
ROCEREINT.

RoFEINO ¢

(A) 103872 =08 %0
(B) 1,2 0233 %0
(C) 1083 =»g, %0
(D) 2 3083 3 =»g 70

K - 0820



-

81. Which of the following correlation is the

strongest ?
(A) +05
(C) -60

(B) + 80
(D) —1.00

82. Which of the following formats can be

used for GIS output ?
(A) PDF
(B) DXF
(C) MIG
(D) GIF

83. In statistical modeling, to predict the

value of the dependent variable for a new
case based on the knowledge of one or
more independent variables, we would

Total Number of Pages : 40

85. Which of the following sensors are

unaffected by atmospheric conditions
and thus they are able to penetrate

smoke, clouds, haze and snow ?
(A) Ultraviolet sensors

(B) Infrared sensors

(C) Microwave sensors

(D) Photographic sensors

86. Examine the following statements and

select the correct answer using the codes

given below :

1. The IRNSS (Indian GPS)
Constellation of eight satellites is
known as ‘NAVIC’.

2. IRNSS will provide two types
of services, namely, Standard

use Positioning Service (SPS) to all the

(A) Correlation analysis users and Restricted Service (RS), an

(B) Regression analysis encrypted service to the authorised

_ users.
(C) Kolmogorov-Smirnov test

3. Itis expected to provide a positional

(D) Chi-square test accuracy of better than 20 m in the

primary service area.

84. In the structure of spatial data, uniform Codes :
cell size is a description of
(A) Only 1 and 2 are correct
(A) A point data structure
(B) 1, 2 and 3 are correct
(B) A polygon data structure
(C) Only 1 and 3 are correct
(C) A raster data structure

D) Only 2 and 3 are correct
(D) A vector data structure (D) y
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87. The correct sequence of the given parts
of electromagnetic spectrum in terms of
their wave length is

(A) Gamma, Radio, Infrared,
Ultra-violet, Visible

(B) Gamma, Ultraviolet, Visible,
Infrared, Radio

(C) Ultraviolet, Visible, Gamma,
Infrared, Radio

(D) Visible, Ultraviolet, Gamma,
Infrared, Radio

88. Match List — I with List — II and select
the correct answer using the codes given

below :
List -1 List - II
I. Hyther graphs 1. Elevation/
depression

ratio diagrams

II. Isochrones 2. Population
age-sex
diagrams

III. Hypsometric 3. Climatic

curves diagrams

IV. Pyramids 4. Spatial travel
time diagrams

Codes :

I II nm 1Iv
(A) 3 4 1 2
B) 3 1 4 2
©) 4 3 1 2
(D) 3 4 2 1
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89. Mc Mahon Line separates
(A) Arunachal Pradesh and China
(B) Himachal Pradesh and China
(C) Uttarakhand and China
(D) Sikkim and China
90. Which one of the following places

records the lowest temperature in the

month of January ?
(A) Mumbai

(B) Chennai

(C) Bengaluru

(D) Kolkata

91. With reference to soil conservation,

consider the following matches :
1. Afforestation

2. Crop rotation

3. Contour ploughing

4. Terracing

Codes :

(A) 1,2 and 3 only
(B) 2 and 4 only
(C) 1,3 and 4 only

(D) 1,2,3 and 4
Paper 11
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92. Consider the following statements :

1. Wells and tube wells comprise the

largest source of irrigation in India.

2. Uttar Pradesh has the largest area

under tank irrigation.
Which of the above statements is/are
correct ?
(A) 1 only
(B) 2 only
(C) Both 1 and 2

(D) Neither 1 nor 2

93. Leh region is a cold desert because

1. It is out of reach of the monsoon
winds and it is surrounded by lofty

mountains.

2. Monsoon winds dry up by the time

they reach Leh region.
Codes :

(A) Only 1 is correct
(B) Only 2 is correct
(C) Both 1 and 2 are correct

(D) Neither 1 nor 2 is correct
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94. Match List — I with List — II and select
the correct answer using the codes given

below :
List-1 List - 1I
(State/UT) (Sharing of Border
with)
I. Sikkim 1. China and
Myanmar
II. Arunachal 2. Nepal and
Pradesh Bhutan
ITII. Mizoram 3. Myanmar and
Bangladesh
IV. Jammu and 4. China and
Kashmir Afghanistan
Codes :
I IT m 1v
(A) 1 2 3 4
(B) 2 1 3 4
©) 3 4 1 2
(D) 4 3 2 1

95. Which of the following pair is/are
correctly matched ?
Hydroelectric Plant State

I. Dulhatsi — Punjab

II. Tehri — Uttarakhand
III. Shivanasamudram - Karnataka
IV. Pykara — Kerala
Codes :
(A) I'and I1

(B) II and III
(C©) MIand IV
(D) IV and I
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97.

98.
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96. Which is the longest National Highway 99. Match List — I with List — II and select
f India 2 the correct answer using the codes given
of India ?

below :
List -1 List — II
(A) NH 11 (Tribal Group) (State)
(B) NH 20 I. Munda 1. Rajasthan
II. Bhil 2. Jharkhand
(C) NH 22 III. Maria 3. Tamil Nadu
IV. Toda 4. Chattisgarh
(D) NH 44 Codes :
I II m 1Iv
. S (A) 1 2 3 4
?
97. Which of the following is a tidal port ? (B) 2 1 4 3
©) 3 -+ 1 2
(A) Kolkata (D) 4 3 ) 1

(B) Marmagoa 100. Given below are two statements, one

labeled as Assertion (A) and the other

(C) Kochi labeled as Reason (R). Select your
answer from the codes given below :
(D) Ennore Assertion (A) : Coal based thermal

power stations contribute to acid-rain.
Reason (R) : Oxides of carbon are

98. As per 2011 census, which one of the emitted when coal burns.

following groups of Union Territories In the context of the above statements,
) ) which of the following is true ?
had the highest literacy rate ?
Codes :
(A) Lakshadweep and Daman and Diu (A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Pondicherry and Chandigarh (B) Both (A) and (R) are true, but (R) is

not the correct explanation to (A)
(C) (A)is true, but (R) is false
(D) Chandigarh and NCT of Delhi (D) (A) is false, but (R) is true

(C) Daman and Diu and Pondicherry
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